1. Zaokrouhli

a/

	
	     na desítky
	     na stovky
	      na tisíce

	   1 361
	
	
	

	   2 194
	
	
	

	  82 940
	
	
	

	   7 085
	
	
	

	 91 568
	
	
	


b/

	
	  na desetitisíce
	 na statisíce

	    134 526
	
	

	    907 421
	
	

	    280 145
	
	

	 1 039 500
	
	

	      64 000
	
	


2. Doplň tabulky

  a/

	
	+  30
	výsledek zaokrouhli na stovky

	         560
	
	

	      7 280
	
	

	    21 350
	
	

	      6 990
	
	

	      2 170
	
	


b/

	
	-  300
	výsledek zaokrouhli na tisíce

	       8 200
	
	

	     12 600
	
	

	     27 000
	
	

	       8 100
	
	

	       9 900
	
	


3. Vypočítej a zaokrouhli 

	
	     +    5 500
	 na desetitisíce



	       15 500
	
	

	     245 000
	
	

	       84 200
	
	

	     702 400
	
	

	  1 051 900     
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